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INTERMEDIATE EXAMINATION – 2024  

(ANNUAL/

Geography (Elective)

I. A. (Theory/ ) 

Total No. of Questions : 70+20+6=96  Total No. of Printed Pages : 

Instructions for the candidates : 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA 

Candidate must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet.  

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

le; % 3 ?kaVs 15 feuV 

Time :- 3 Hours 15 Minutes 

iw.kkZad & 70 

Full Marks - 70 

Sub. Code - 323 



2 
 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz'u&iqfLrdk nks [k.Mksa esa foHkDr gS &  ,oa  

This question booklet is divided into two sections - Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz'uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x, OMR mÙkj&i=d esa fn, x, lgh fodYi dks uhys @ dkys ckWy 

isu ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ 

uk[kwu vkfn dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only the first 35 will be evaluated. Each 

question carries 1 mark. For answering these darken the circle 

with blue / black ball pen against the correct option on OMR 

Answer Sheet provided to you. Do not use Whitener / liquid / blade 

/ nail etc. on OMR Answer Sheet, otherwise the result will be 

invalid. 



3 
 

7- [k.M&c esa 20 y?kq mÙkjh; iz'u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSa] ftuesa 

ls fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 6 

nh?kZ mÙkjh; iz'u fn, x, gSa] izR;sd ds fy, 5 vad fu/kkZfjr gSa] ftuesa ls 

fdUgha 3 iz'uksa dk mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 short answer type questions, each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 long answer type  

questions, each carrying 5 marks, out of which any 3 questions are 

to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

 Section-A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds fy, pkj fodYi fn, x, gSa] ftuesa ls flQZ ,d lgh gSA pqus 

x;s lgh fodYi dks OMR 'khV ij fpfàr djsaA flQZ 35 iz'uksa ds mÙkj nsus gaSA   

           (35x1=35) 

Question Nos. 1 to 70 have four options, out of which only one is correct. 

Mark your selected correct option on the OMR Sheet. Only 35 questions are 

to be answered.         (35x1=35) 

1- buesa ls ^^ujek** fdlls lacaf/kr gS \ 

 (A) twV     (B) dikl 
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 (C) dgok     (D) buesa ls dksbZ ugha 

 Narma is related to which of these ? 

 (A) Jute     (B) Cotton 

 (C) Coffee     (D) None of these 

2- buesa ls dkSu vkfFkZd Hkwxksy dk ,d mi{ks= ugha gS \ 

 (A) lalk/ku Hkwxksy    (B) vkS|ksfxd Hkwxksy 

 (C) —f"k Hkwxksy    (D) fyax Hkwxksy 

 Which of these is not a sub-field of economic geography ? 

 (A) Resource Geography  (B) Industrial Geography 

 (C) Agricultural Geography  (D) Gender Geography 

3- fdlus uofu'p;okn dh ladYiuk izLrqr dh \ 

 (A) fjVj     (B) gEcksYV 

 (C) fxzfQFk Vsyj    (D) lsEiy 

 Who introduced the concept of Neodeterminism ? 

 (A) Ritter     (B) Humbolt 

 (C) Griffith Taylor    (D) Semple 

4- fuEufyf[kr esa ls dkSu fojy tula[;k okyk {ks= ugha gS \ 

 (A) vVkdkek     (B) Hkwe/; js[kh; izns'k 

 (C) nf{k.k&iwohZ ,f'k;k   (D) /kzqoh; izns'k 

 Which of the following is not an area of sparse population ? 

 (A) Atacama    (B) Equatorial region 
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 (C) South-east Asia   (D) Polar regions 

5- fuEufyf[kr egkns'kksa esa ls fdlesa tula[;k o`f)&nj lokZf/kd gS \ 

 (A) vÝhdk     (B) nf{k.k vesfjdk 

 (C) ,f'k;k     (D) mŸkj vesfjdk 

 Which of the following continents has the highest growth-rate of 

 population ? 

 (A) Africa     (B) South America 

 (C) Asia     (D) North America 

6- tukafddh ,d mi&’kk[kk gS % 

 (A) Hkwvk—fr foKku dk   (B) tula[;k Hkwxksy dk 

 (C) tyok;q foKku    (D) ifjogu Hkwxksy dk 

 Demography is a sub-branch of : 

 (A) Geomorphology   (B) Population geography  

 (C) Climatology    (D) Transport geography 

7- buesa ls dkSu ekuo fodkl ds LraHk gS \ 

 (A) lerk     (B) lrr iks"k.kh;rk 

 (C) mRikndrk    (D) buesa ls lHkh 

 Which of these is a pillar of human development ? 

 (A) Equity     (B) Sustainability 

 (C) Productivity    (D) All of these 

8- buesa dkSu tu LFkkukUrj.k dk izfrd"kZ dkjd ugha gS \ 
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 (A) csjkstxkjh     (B) egkekjh 

 (C) ty ladV    (D) jkstxkj ds volj 

 Which of these is not a push factor of human migration ? 

 (A) Unemployment   (B) Epidemics 

 (C) Water Crisis    (D) Job opportunity 

9- buesa ls dkSu tukafddh; laØe.k dh izFke voLFkk dk lwpd gS \ 

 (A) mPp iztuu'khyrk ,oa mPp eR;Zrk (B) fuEu iztuu'khyrk ,oa fuEu eR;Zrk 

 (C) (A) vkSj (B) nksuksa   (D) buesa dksbZ ugha 

 Which of these is an indicator of the first stage of demographic 

 transition ? 

 (A) High fertility & high mortality (B) Low fertility & low mortality 

 (C) Both (A) & (B)   (D) None of these 

10- fdl fo"k; ds fo}kuksa us ekuo fodkl lwpdkad fodflr fd;k gS \ 

 (A) HkkSfrdh     (B) Hkwxksy 

 (C) laL—r     (D) vFkZ'kkL= 

 The scholars of which subject have developed human development 

 index ? 

 (A)  Physics    (B) Geography 

 (C) Sanskrit    (D) Economics 

11- ekuo fodkl ds fy, dkSu mikxe izksŒ veR;Z lsu ls tqM+k gS \ 

 (A) {kerk mikxe    (B) vk/kkjHkwr vko';drk mikxe 
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 (C) dY;k.k mikxe    (D) vk; mikxe 

 Which approach to human development is associated with Prof. 

 Amartya Sen ? 

 (A) Capability approach  (B) Basic need approach 

 (C) Welfare approach   (D) Income approach 

12- vkjafHkd ekuo vius thou&;kiu ds fy, fdu xfrfof/k;ksa ij fuHkZj Fks \ 

 (A) i;ZVu     (B) pyfp= 

 (C) vk[ksV ,oa laxzg.k   (D) f'k{kk 

 The earliest human beings were dependent on which activities for their 

 subsistence ? 

 (A) Tourism     (B) Film 

 (C) Hunting & gathering  (D) Education 

13- pyoklh  i'kqpkjd fuHkZj djrs gSa % 

 (A) i'kq     (B) i{kh 

 (C) yksgk     (D) dikl 

 Nomadic herders depend on : 

 (A) Livestocks    (B) Bird 

 (C) Iron     (D) Cotton 

14- jsafM;j dgk¡ ik, tkrs gSa \ 

 (A) fo"kqorh; izns'k    (B) vkdZfVd izns'k 

 (C) Hkwe/;lkxjh; izns'k   (D) buesa dksbZ ugha 
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 Where are Reindeers found ? 

 (A) Equatorial region   (B) Arctic region 

 (C) Mediterranean region  (D) None of these 

15- lhesaV m|ksx vk/kkfjr gS % 

 (A) [kfut ij    (B) jlk;u ij 

 (C) taxy ij     (D) tkuoj ij 

 Cement industry is based on : 

 (A) Mineral     (B) Chemical 

 (C) Forest     (D) Animal 

16- buesa ls dkSu vkS|ksfxd uxj gS \ 

 (A) vkjk     (B) cksdkjks 

 (C) vtesj     (D) y[kuÅ 

 Which of these is an industrial city ? 

 (A) Ara     (B) Bokaro 

 (C) Ajmer     (D) Lucknow 

17- buesa dkSu Lyst ls lacaf/kr gS \ 

 (A) Å¡V     (B) jsafM;j 

 (C) xk;     (D) buesa dksbZ ugha 

 Which of these is associated with sledge ? 

 (A) Camel     (B) Reindeer 

 (C) Cow     (D) None of these 
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18- Hkkjrh; jk"Vªh; egkekxZ izkf/kdj.k dk izpkyu dc gqvk Fkk \ 

 (A) 1994     (B) 1995 

 (C) 1996     (D) 1997 

 When was the National Highways Authority of India operationalised ? 

 (A) 1994     (B) 1995 

 (C) 1996     (D) 1997 

19- fuEufyf[kr esa ls dkSu r`rh;d fØ;kdyki gS \ 

 (A) cqukbZ     (B) —f"k 

 (C) vk[ksV     (D) O;kikj  

 Which of the following is a Tertiary activity ? 

 (A) Weaving    (B) Agriculture 

 (C) Hunting     (D) Trading 

20- fdl leqnzh ekxZ ij vkWdyS.M vofLFkr gS \ 

 (A) nf{k.kh vVykafVd    (B) nf{k.kh iz'kkar 

 (C) mŸkjh vVykafVd    (D) buesa ls dksbZ ugha 

 On which sea route Auckland is located ? 

 (A) Southern Atlantic    (B) Southern Pacific 

 (C) Northern Atlantic   (D) None of these 

21- fdl unh ij MqlsyMQZ iŸku vofLFkr gS \ 

 (A) jkbu     (B) MSU;wc 

 (C) lhu     (D) oksYxk 



10 
 

 On which river is Dusseldorf port situated ? 

 (A) Rhine      (B) Danube 

 (C) Seine     (D) Volga 

22- fdl ns'k esa [ksr ls dkj[kkuksa rd nw/k dh vkiwfŸkZ ikbiykbu ds tfj, dh tkrh gS \ 

 (A) ;wØsu     (B) Hkkjr 

 (C) lwMku      (D) U;wthySaM 

 In which country milk is supplied through pipeline from farms to 

 factories ? 

 (A) Ukraine     (B) India 

 (C) Sudan     (D) New Zealand 

23- Hkkjr esa eqä vkdk'k uhfr dc izkjEHk gqbZ \ 

 (A) 1990     (B) 1991 

 (C) 1992     (D) 1993 

 When was Open Sky Policy introduced in India ? 

 (A) 1990     (B) 1991 

 (C) 1992     (D) 1993 

24- dkSu laLFkk izfro"kZ ekuo fodkl fjiksVZ dk izdk'ku djrh gS \ 

 (A) WHO     (B) UNICEF 

 (C) UNDP     (D) OPEC 

 Which Organisation publishes human development report every year ? 

 (A) WHO     (B) UNICEF 
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 (C) UNDP     (D) OPEC 

25- xgu thfodk —f"k ikbZ tkrh gS % 

 (A) mŸkj if'pe dukMk esa   (B) nf{k.k iwoZ vÝhdk esa 

 (C) mŸkj iwoZ :l esa    (D) nf{k.k iwoZ ,f'k;k  

 Intensive subsistence agriculture is found in : 

 (A) North West Canada  (B) South East Africa 

 (C) North East Russia   (D) South East Asia 

26- feaLd eq[;ky; gS % 

 (A) CIS dk     (B) ASEAN dk 

 (C) OPEC dk    (D) buesa ls dksbZ ugha 

 Minsk is the headquarters of : 

 (A) CIS     (B) ASEAN 

 (C) OPEC     (D) None of these 

27- vk/kqfud Hkkjr esa dqy vuqlwfpr Hkk"kk,¡ fdruh gSa \ 

 (A) 101     (B) 51ª 

 (C) 22      (D) 11 

 What are the total scheduled languages in modern India ? 

 (A) 101     (B) 51ª 

 (C) 22      (D) 11 

28- ef.kiqj] fetksje vkSj ukxkySaM esa dkSu Hkk"kk cksyh tkrh gS \ 

 (A) fdjkr      (B) vk;Zu 
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 (C) nzkfofM;u    (D) fu"kkn 

 Which language is spoken in Manipur, Mizoram and Nagaland ? 

 (A) Kirata     (B) Aryan 

 (C) Dravidian     (D) Nishada 

29- fdl izns'k esa izysf[kr izkphure uxjh; cLrh ik;h tkrh gS \  

 (A) ºokaxgks ?kkVh    (B) uhy ?kkVh 

 (C) fla/kq ?kkVh    (D) eslksiksVkfe;k 

 In which region the oldest well documented urban settlement has been 

 found ? 

 (A) HwangHo valley   (B) Nile valley 

 (C) Indus valley    (D) Mesopotamia 

30- iz;kx ,d mnkgj.k gS % 

 (A) izkphu 'kgj dk     (B) vk/kqfud 'kgj dk 

 (C) e/;dkyhu 'kgj dk    (D) buesa ls dksbZ ugha 

 Prayag is an example of : 

 (A) Ancient town    (B) Modern town 

 (C) Medieval town   (D) None of these 

31- buesa dkSu lkaL—frd 'kgj dk mnkgj.k gS \ 

 (A) iq"dj     (B) cchuk 

 (C) nkukiqj     (D) Jhuxj 

 Which of these is an example of cultural town ? 
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 (A) Pushkar    (B) Babina 

 (C) Danapur    (D) Srinagar 

32- eÅ mnkgj.k gS % 

 (A) 'kS{kf.kd 'kgj dk   (B) xSfjlu 'kgj dk 

(C) vkS|ksfxd 'kgj dk    (D) buesa ls dksbZ ugha 

 Mhow is an example of : 

 (A) Educational town   (B) Garrison town 

 (C) Industrial town    (D) None of these 

33- fuEufyf[kr esa dkSu Hkwfe mi;ksx oxhZdj.k ugha gS \ 

 (A) 'kq) cks;k x;k {ks=   (B) ijrh Hkwfe 

 (C) —f"k ;ksX; O;FkZ Hkwfe   (D) lhekUr Hkwfe 

 Which of the following is not a land use category ? 

 (A) Net Area Sown   (B) Fallow land 

 (C) Culturable wasteland   (D) Marginal land 

34- gfjr Økafr dk lEcU/k gS % 

 (A) Qly ls     (B) eNyh ls  

 (C) ou ls     (D) vaMk ls 

 Green revolution is associated with : 

 (A) Crop     (B) Fish 

 (C) Forest     (D) Egg 

35- buesa ls dkSu dkWQh mRiknu ds fy, izfl) gS \  
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 (A) if'peh ?kkV    (B) iwohZ ?kkV 

 (C) lriqM+k ioZr    (D) fgeky; ioZr 

 Which of these is famous for coffee production ? 

 (A) Western Ghat   (B) Eastern Ghat 

 (C) Satpura mountain   (D) Himalayan mountain 

36- HkjekSj tutkrh; {ks= fdl jkT; esa gS \ 

 (A) e/; izns'k    (B) fgekpy  izns'k 

 (C) vkU/kz izns'k    (D) v#.kkyp izns'k 

 Bharmaur tribal area is in which state ? 

 (A) Madhya Pradesh   (B) Himachal Pradesh 

 (C) Andhra Pradesh   (D) Arunachal Pradesh 

37- >kcqvk ftyk fdl jkT; esa gS \ 

 (A) fcgkj      (B) >kj[kaM 

 (C) e/; izns'k    (D) NŸkhlx<+ 

 Jhabua district is in which state ? 

 (A) Bihar     (B) Jharkhand 

 (C) Madhya Pradesh   (D) Chhattisgarh 

38- buesa ls fdlesa lokZf/kd xzkeh.k vkcknh gS \ 

 (A) paMhx<+     (B) nknj ,oa ukxj gosyh 

 (C) y{k}hi     (D) fnYyh 

 Which of these has maximum rural population ? 
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 (A) Chandigarh    (B) Dadar and Nagar Haveli 

 (C) Lakshadweep   (D) Delhi 

39- vkLVªsfy;k dh jkt/kkuh dgk¡ gS \ 

 (A) iFkZ      (B) dsucsjk 

 (C) flMuh     (D) esycksuZ 

 Where is the capital of Australia ? 

 (A) Perth     (B) Canberra 

 (C) Sydney     (D) Melbourne 

40- l™kxj dh ladYiuk fdlus nh gS \ 

 (A) iSfVªd fxfMt    (B) thu xksVesu 

 (C) gEcksYV     (D) jSVtsy 

 Who has given the concept of conurbation ? 

 (A) Patrick Geddes   (B) Gene Gottman 

 (C) Humboldt    (D) Ratzel 

41- >kj[kaM esa dks;yk [kku dgk¡ gS \ 

 (A) jk¡ph esa     (B) te'ksniqj esa 

 (C) >fj;k esa     (D) buesa ls dksbZ ugha 

 Where is Coal mine in Jharkhand ? 

 (A) Ranchi     (B) Jamshedpur 

 (C) Jharia     (D) None of these 

42- ?kkVf'kyk dgk¡ gS \ 
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 (A) fcgkj     (B) jktLFkku 

 (C) >kj[k.M     (D) xksok 

 Where is Ghatshila ? 

 (A) Bihar     (B) Rajasthan 

 (C) Jharkhand     (D) Goa 

43- Hkkjr dk izFke rsy'kks/ku dsUnz dgk¡ gS \ 

 (A) iUuk     (B) lwjr 

 (C) /kuckn     (D) fMxcksbZ 

 Where is the first oil refinery of India ? 

 (A) Panna     (B) Surat 

 (C) Dhanbad    (D) Digboi 

44- buesa dkSu jk"Vªh; jktekxZ fnYyh vkSj dksydkrk dks okjk.klh gksdj tksM+rk gS \ 

 (A) NH-1     (B) NH-2 

 (C) NH-3     (D) buesa ls dksbZ ugha 

 Which National Highway connects Delhi with Kolkata via Varanasi ? 

 (A) NH-1     (B) NH-2 

 (C) NH-3     (D) None of these 

45- nf{k.k e/; jsyos dk eq[;ky; dgk¡ vofLFkr gS\ 

 (A) fldanjkckn    (B) csaxyq: 

 (C) psUubZ     (D) gqcyh 

 Where is the headquarters of south-central Railway located ? 
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 (A) Secunderabad   (B) Bengaluru 

 (C) Chennai    (D) Hubli 

46- buesa ls dgk¡ vuqlwfpr tutkfr tula[;k ugha gS \ 

 (A) iatkc     (B) jktLFkku 

 (C) >kj[kaM     (D) e/; izns'k 

 Which of these has no scheduled tribe population ? 

 (A) Punjab     (B) Rajasthan 

 (C) Jharkhand    (D) Madhya Pradesh 

47- rkjkiqj lacaf/kr gS % 

 (A) ijek.kq ÅtkZ ls    (B) lkSj ÅtkZ ls  

 (C) iou ÅtkZ ls    (D) rkih; ÅtkZ ls 

 Tarapur is associated with ? 

 (A) Atomic energy   (B) Solar energy 

 (C) Wind energy    (D) Thermal energy 

48- buesa dkSu /kkfeZd uxj gS \ 

 (A) bVkjlh     (B) dkaMyk 

 (C) dVuh     (D) buesa ls dksbZ ugha 

 Which of these is a religious town ? 

 (A) Itarsi     (B) Kandla 

 (C) Katni     (D) None of these 

49- buesa dkSu ykSg&bLikr dsUnz ugha gS \ 
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 (A) fHkykbZ     (B) nqxkZiqj 

 (C) vkxjk     (D) cksdkjks 

 Which of these is not an iron and steel centre ? 

 (A) Bhilai     (B) Durgapur 

 (C) Agra     (D) Bokaro 

50- buesa ls dkSu lwrh oL= m|ksx dsUnz gS \  

 (A) dkuiqj     (B) ukxiqj 

 (C) 'kksykiqj     (D) buesa ls lHkh 

 Which of these is a cotton textile industry centre ? 

 (A) Kanpur     (B) Nagpur 

 (C) Solapur     (D) All of these 

51- buesa dkSu vkS|ksfxd uxj ugha gS \ 

 (A) Hknzkorh     (B) dksVk 

 (C) lsye     (D) dkuiqj 

 Which of these is not an industrial town ? 

 (A) Bhadravati    (B) Kota 

 (C) Salem     (D) Kanpur 

52- buesa dkSu Hkkjr ds iwohZ rV ij fLFkr iŸku ugha gS \ 

 (A) ikjknhi     (B) psUubZ 

 (C) dksydkrk     (D) eqacbZ 

 Which of these ports is not situated on the eastern coast of India ? 
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 (A) Paradip     (B) Chennai 

 (C) Kolkata     (D) Mumbai 

53- ehVj xst lacaf/kr gS % 

 (A) lM+d ekxZ ls     (B) ikbiykbu ls 

 (C) ok;qekxZ ls     (D) jsyekxZ ls 

 Metre gauge is associated with : 

 (A) Roadways    (B) Pipeline 

 (C) Airways    (D) Railways 

54- fyXukbV lacaf/kr gS % 

 (A) ykSg v;Ld ls    (B) rk¡ck v;Ld ls 

 (C) dks;yk ls    (D) ckWDlkbV ls 

 Lignite is associated with : 

 (A) Iron ore     (B) Copper ore 

 (C) Coal     (D) Bauxite 

55- buesa dkSu Lo.kZ dkWyj okyk lsok gS \ 

 (A) izkFkfed fØ;k    (B) iape fØ;k  

 (C) f}rh;d fØ;k    (D) buesa ls dksbZ ugha 

 Which of these is a gold collar service ? 

 (A) Primary activity   (B) Quinary activity 

 (C) Secondary activity   (D) None of these 

56- fuEufyf[kr esa dkSu e`nk vijnu dk dkj.k ugha gS \ 
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 (A) _rq{kj.k     (B) ouksUewyu 

 (C) pkj.k     (D) viokg 

 Which of the following is not a cause of soil erosion ? 

 (A) Weathering    (B) Deforestation 

 (C) Grazing    (D) Drainage 

57- buesa ls dkSu vjgj ¼rqj½ nky ds mRiknu esa vxz.kh gS \ 

 (A) fcgkj     (B) vksfM’kk 

 (C) egkjk"Vª     (D) iatkc 

 Which of these is the leading producer of Arhar (Tur) pulses ? 

 (A) Bihar     (B) Odisha 

 (C) Maharashtra    (D) Punjab 

58- dkcsZV jk"Vªh; m|ku dk laca/k gS % 

 (A) caxky Vkbxj    (B) ,d lhax okyk jkbuks 

 (C) ,f'k;kbZ 'ksj    (D) buesa ls dksbZ ugha 

 Corbet National Park is associated with : 

 (A) Bengal Tigers   (B) One horned Rhinos 

 (C) Asiatic Lions    (D) None of these 

59- Hkjriqj i{kh vHk;kj.; dk u;k uke D;k gS \ 

 (A) ekul vHk;kj.;    (B) dsoyknso ?kkuk jk"Vªh; m|ku 

 (C) lyhevyh i{kh vHk;kj.;  (D) isfj;kj jk"Vªh; m|ku 

 What is the new name of Bharatpur Bird Sanctuary ? 
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 (A) Manas Sanctuary   (B) Keoladeo Ghana National Park 

 (C) Salim Ali Bird Sanctuary  (D) Periyar National Park 

60- fuEufyf[kr esa dkSu ÅtkZ dk vuohdj.kh; lzksr gS \ 

 (A) ty     (B) rki 

 (C) lkSj     (D) iou 

 Which of the following is non-renewable source of energy ? 

 (A) Hydel     (B) Thermal 

 (C) Solar      (D) Wind 

61- buesa ls dkSu Hkwrkih; ÅtkZ ls lacaf/kr gS \ 

 (A) ykEck ?kkVh    (B) iwxk ?kkVh 

 (C) Hkqt     (D) buesa ls dksbZ ugha 

 Which of these is associated with geothermal energy ? 

 (A) Lamba Valley    (B) Puga Valley 

 (C) Bhuj     (D) None of these 

62- caxky :ch dk laca/k fdl [kfut ls gS \ 

 (A) dks;yk     (B) ghjk 

 (C) vHkzd     (D) eSaxuht 

 Which mineral is associated with Bengal ruby ? 

 (A) Coal     (B) Diamond 

 (C) Mica     (D) Manganese 

63- buesa ls dkSu ,d fu;ksftr uxj gS \ 
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 (A) paMhx<+     (B) eqjknkckn 

 (C) vkxjk     (D) okjk.klh 

 Which of these is a planned city ? 

 (A) Chandigarh    (B) Muradabad 

 (C) Agra     (D) Varanasi 

64- fuEufyf[kr esa dkSu mŸkj Hkkjr dk ,d uxj ugha gS \ 

 (A) /kuckn     (B) vkxjk 

 (C) iq.ks     (D) Jhuxj 

 Which of the following is not a city of north India ? 

 (A) Dhanbad    (B) Agra 

 (C) Pune     (D) Srinagar 

65- buesa ls dkSu izeq[k pkoy mRiknd jkT; ugha gS \ 

 (A) mŸkj izns'k    (B) if'pe caxky 

 (C) fcgkj     (D) jktLFkku 

 Which of these is not a main rice producing state ? 

 (A) Uttar Pradesh   (B) West Bengal 

 (C) Bihar     (D) Rajasthan 

66- buesa ls dkSu mŸkj Hkkjr dh unh gS \ 

 (A) isfj;kj     (B) —".kk 

 (C) xkserh     (D) isUukj 

 Which of these is a river of north India ? 
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 (A) Periyar     (B) Krishna 

 (C) Gomati     (D) Pennar 

67- vadys'oj fdl jkT; esa gS \ 

 (A) xqtjkr     (B) jktLFkku 

 (C) egkjk"Vª     (D) dsjy 

 Ankleshwar is in which state ? 

 (A) Gujarat     (B) Rajasthan 

 (C) Maharashtra    (D) Kerala 

68- buesa ls f'koleqnze dk lEcU/k fdlls gS \ 

 (A) isVªksfy;e ls    (B) twV ls 

 (C) tyfo|qr ls    (D) ckWDlkbV ls 

 With which of these is Shivasamundram associated ? 

 (A) Petroleum    (B) Jute 

 (C) Hydel Power    (D) Bauxite 

69- buesa dkSu iznw"kd gS \ 

 (A) lhlk     (B) tLrk 

 (C) lYQj MkbvkWDlkbM   (D) vkWDlhtu 

 Which of these is a pollutant ? 

 (A) Lead     (B) Zinc 

 (C) Sulphur dioxide   (D) Oxygen 

70- fuEufyf[kr esa dkSu gsisVkbfVl dk dkj.k gS \ 
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 (A) ty iznw"k.k    (B) ok;q iznw"k.k 

 (C) /ofu iznw"k.k    (D) Hkwfe iznw"k.k 

 Which of the following is the Cause of hepatitis ? 

 (A) Water Pollution   (B) Air Pollution 

 (C) Sound Pollution   (D) Land Pollution

 Section-B

Short Answer Type Questions

iz'u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gSaA            (10x2=20) 

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      (10x2=20) 

1- ekuorkokn D;k gS \ 

What is humanism ? 

2- vid"kZ ,oa izfrd"kZ dkjd esa varj dhft, A 

Differentiate between pull and push factors . 

3- mRiknd tula[;k D;k gS \ 

What is productive population ? 

4- lkewfgd —f"k D;k gS \ 

What is collective farming ? 

5- jcM+ mRiknd fdUgha nks ns'kksa ds uke fyf[k,A 
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Name any two rubber producing countries. 

6- vkS|ksfxd cLrh ls vki D;k le>rs gSa \ 

What do  you mean by industrial estate ? 

7- vk/kkjHkwr m|ksx dks ifjHkkf"kr dhft,A 

Define basic industry. 

8- rr̀h;d fØ;kdyki ds nks mnkgj.k nhft,A 

Give two examples of tertiary activities. 

9- ckáL=ksrhdj.k D;k gS \ 

What is outsourcing ? 

10- lM+d ifjogu dh fdUgha nks leL;kvksa dk mYys[k dhft,A 

Mention any two problems of roadways. 

11- ekuo fodkl ds ladsrdksa ds uke fyf[k,A 

Name the indicators of human development. 

12- izdh.kZ vkSj l?ku cfLr;ksa ds chp varj dhft,A 

Differentiate between dispersed and compact settlements. 

13- O;kikfjd uxj D;k gS \ 

What is commercial town ? 

14- catj Hkwfe ls vki D;k le>rs gSa \ 

What do you mean by barren land ? 

15- Hkkjr ds nks pk; mRiknu djus okys jkT;ksa ds uke fyf[k,A 

Name two tea producing states of India. 
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16- iwohZ Hkkjr dh nks unh csfluksa dk mYys[k dhft,A 

Mention two river basins of eastern India. 

17- tylaHkj izca/ku D;k gS \ 

What is watershed management ? 

18- ck;ksxSl D;k gS \ 

What is Biogas ? 

19- Hkkjr ds nks ijek.kq ÅtkZ mRiknd jkT;ksa ds uke fyf[k,A 

Name two atomic power producing states of India. 

20- lrr~ iks"k.kh; fodkl D;k gS \ 

What is sustainable development ? 

Long Answer Type Questions

iz'u la[;k 21 ls 26 nh?kZ mÙkjh; gSaA fdUgha rhu iz'uksa ds mÙkj nsaA izR;sd ds fy, 5 vad 

fu/kkZfjr gSaA          (3x5=15) 

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions. 

Each question carries 5 marks.      (3x5=15) 

21- Hkkjrh; —f"k dh leL;kvksa dk mYys[k dhft,A 

Mention the problems of Indian agriculture. 

22- m|ksxksa dks vofLFkfr dks izHkkfor djus okys dkjdksa dk o.kZu dhft,A 

Describe the factors influencing the location of industries. 

23- leqnzh O;kikfjd ekxksZa dks izHkkfor djus okys dkjdksa dk o.kZu dhft,A 
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Describe the factors influencing ocean trade routes. 

24- Hkkjr esa isVªksfy;e ds mRiknu ,oa forj.k dk fooj.k nhft,A 

Give an account of production and distribution of petroleum in 

India. 

25- Hkkjr esa yksgk ,oa bLikr m|ksx ds forj.k dh O;k[;k dhft,A 

Explain the distribution of iron and steel industry in India. 

26- ioZrh; {ks= fodkl dk;ZØe ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on the hill area development programme. 


